OE Manufacturers names and numbers are used for reference purposes only

Issued 03.2024 /TB1108 Technical content subject to change
© Schaeffler Vehicle Lifetime Solutions

LuK Servic Info

TB1108
Part Nr. 635 3540 09 - 350mm JGVO
Manufacturer: ZETOR FORTERRA
Model: 115, 120, 125, 130, 135, 140
Art.-Nr.: 635 3540 09 Info: New design / Neues Design / Nou-

velle conception / Nuevo disefio / Nuovo
disegno / Nuovo segno

Info: 635 3540 09 replaces / ersetzt / remplace / sustituye a / sostituisce 635 3528 09

i i 635 3540 09 = REPSET ONLY

SNYP~ Fully interchangeable with existing clutches with no modi- ? Totalmente intercambiable con embragues existentes sin
zalnx fications required to vehicle or flywheel. A new fixation bolt mmmmm necesidad de modificaciones en el vehiculo o volante de iner-
set 411022510 9 x M8 x 1.25 x 40mm + Conical washer is cia. Un nuevo juego de pernos de fijacion 411022510 9 x M8
supplied with new designs. x 1,25 x 40mm + Arandela conica se suministra con nuevos
disefos.

- Vollstandig austauschbar mit vorhandenen Kupplungen, ohne I I Completamente intercambiabile con frizioni esistenti senza
dass Anderungen am Fahrzeug oder Schwungrad erforderlich necessita di modifiche al veicolo o al volano. Un nuovo set
sind. Ein neuer Befestigungsbolzensatz 411 022510 9 x M8 di bulloni di fissaggio 4110225 10 9 x M8 x 1,25 x 40mm +
x 1,25 x 40mm + Konische Unterlegscheibe wird mit neuen Rondella conica viene fornito con nuovi design.

Designs geliefert.

I I Entiérement interchangeable avec les embrayages existants
sans modification requise du véhicule ou du volant d’inertie.
Un nouveau jeu de boulons de fixation 411022510 9 x M8 x
1,25 x 40mm + Rondelle conique est fourni avec de nouveaux
designs.

SCHAEFFLER

Call: (0) 6426
v:hicl:e?i?et?mliizluzti01:125.:chaeffler.com R E p}XPE RT



00 E
-0
h1 o
=
[a'a]
a >
o
2 :{an
2 AN
m
Y
A g0
N
M
O
/ m
o
(&)
-
@
&=
O
©
=
Mx
2S
= < 5
o .2
m N
2[
2 " Q2
= n S o
Q o=
o g &
owm 4[
> + 2
S - O
@ 53
()] o >
X
=
—l

- )

SUOINJOS |BWId4IT 1IIYSA I9143BYIS Q@
Ajuo sasodind 92ua.a)al 10§ paSN aJe SidqWINU pue SaWeU Siainyenuey 30
aSueyd 03 3123(qns Jualuod |ed1uYd3] 80LLEL/ 20T €0 Panss|




